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33600000 rlbluqnp0ruIrub rupm urnnufup

336611 60
alluLn!$[rfrU 0,2%1,0 /q1uLn[$[rfrtrfr h[r4pnmr.upLnpum) upLlutl q< 0.0 800

3361r170 pnLnu{bpfrlrfr h[4pnp1npIr1 80tlq 2d1 n/hum q< 0.0 800

3361 1 1 70 lpnLnu{bp[lfr h[rppnplnp[r1 40dq 2d1 unq q< 0.0 500

33611220

1, b ppftL pb 4n rti duuU 9p urtlbp ur ! tutrqtr ht u tbn
Ur.ur"npf nrdfr ptnnhq, l1ufi nulfr ptnnhq, Luupfinrdfi gfitnpur"n,

u.rLonrn orrnrLno
+ltbnzl q<

0.0 1200

33611240 Jt1Lnh{ugrlud ul6nLfu 4/huu q< 0.0 2500

33691202 fmuLIqfluLn 250dq/2d1 untlutt q< 0.0 1200

33621290
hqh!bbnhL (u4pbLurfrtr) 1,0 un{uLt q< 0.0 400

33621590 $nrpnubdf4 1% 2,0 un{ q< 0.0 4000

33631290 hpnLqpn$bL 200dq q/huu q< 0.0 8000

3363t310 }f\pShLu\ r00dq (4fr\pShhu\ tluurpfrnr-il) n/hruu g< 0.0 2500

33651 1 1 B 3b$LnpIupunL 1,0q $ttul-t
q< 0.0 6000

33651118 3b$LnpIuBun! 1nt6[1n{ $Lu.tLt
q< 0.0 20

33651123 Sb$nunupu[d 1,0 $Lutr q< 0.0 200

33651 1 35 Plnpud$bU[!n1,tlbp]1npug[r1 punLtl huun q< 0.0 150

33651r49 LrIuuumfL 500 r/huu q< 0.0 500

33691222 Sfrttupfiqfb 25dq hrup q< 0.0 400

33661 1 1 9 Ubmud[qn1 50%2n1 upt{uL q< 0.0 8000

33661154 SbLnpulu1f! 1% 10d1 [1u!nl q< 0.0 80

33661156 fdfdn1n1 0,5% [1ut4nl g< 0.0 200

33671117 Sruntnhh 4OrJq/rJt p1u!nl g< 0.0 400

33651134 ShqnnSroBuurqhU 200dr rhtup q< 0.0 400

33651134 Sfiqpn$lopurugFh 3Uq/UL 5ri1 ilurLlnl
q< 0.0 150

33671118 tbpuurtlbBuqnU 0,1% lOdt bLuUnl q< 0.0 r80

33671',|13 ur.upnLmuUnl (urupnrunurlnlfr unq$uLn) o? q< 0.0 r00

33671114 uufbn$f fiL 2.4% 5111 un{ q< 0.0 3000

33671r26 PpndhbpufL Bdq r/huu g< 0.0 1000

33671130 rlh$bLhhrlpudfrL 1% 1 d1 un{uJtl q< 0.0 14000

33691227 1,uunpfinrdfr plnpf4 0.9% 5,0 un{ q< 0.0 800

33651144 LfimpopunfiL 0,05q r/h q< 0.0 100

33621330 1.,flabputlfiq 250dq/d1 un{ g< 0.0 100

33621120 ftropuuqupfrl.r 40tlq/0,4dt Sturtt q< 0.0 150

3362r120 floouiruurnhL 60rlo/0.6 rl $rutr g< 0.0 10

33661136 thnroburtutl I0do/2dr unduL q< 0.0 200

33611350 UuUnnphLuBBnr 5% 5rjr un{ q< 0.0 3000

33611390 rlfp[arpufrL 5% 1il1 un{ q< 0.0 300

33671r 1 8 Sfrqpnglopuurqht' 500Uq hum q< 0.0 r000


